Solid Absorber Status

Pavel Snopok
lllinois Institute of Technology, Chicago, IL
and Fermilab, Batavia, IL

ICE

ILLINOIS INSTITUTE‘IF
OF TECHNOLOGY

Pavel Snopok, IIT/Fermilab Solid Absorber Status



LiH absorber fabrication status
= R

@ LiH wedge fabrication will take
about two more months.

@ Solid absorber support
structures cannot be produced

h ‘ at Oxford; it has to be RAL or
Fermilab.
o Flat LiH absorber disk is © Fermilab needs the final
complete, coated, ready to be version of engineering

drawings (signed off).
@ Final versions are being
prepared (next slides).

shipped.

@ There is a change in the Li
transportation regulation, Y12
are figuring out how to send
the absorber to Fermilab.

Pavel Snopok, IIT/Fermilab Solid Absorber Status



Flat LiH absorber support

5.
D o3
q
Table or Absorber Waierial Opion
Absorber materal Absorber thickness | Spacer ickness | Rack weight_|
Lk o2 65 mm o 15.209 kg
e 1848 34 mm 155mm 1770049
Parts List
ITEM | QTY ‘ PART NUMBER DRAWING NUMBER MATERIAL MASS
[ _LiH_|Provided by FemiLab |LiH 477 kg PovE 9% 52 mm 65 mm 188tk
memmg Plate MICE_FA_PT02 ( ufnol 720kg | e 2265 25 mm 20 mm 16.983kg
Flat Disc Holder MICE_FA_PT03_ ufnol 255kg |
Flat Disc Holder Cover [MICE_FA_PT04_ ufnol 049 kg N 07 123 mm 121 mm 17.054 kg
5 | 3 [Bracket MICE_FA_PTO5 tainiess Steel 043 kg
6 6 |Ma SS stud ICE_FA_PT06_00 |Stainless Steel 0kg i 4.5 15 mm 25 mm 19.043 kg
7 3 |Shaft1 AICE_FA_PT07_00 UFNOL 10G40 )4 kg
8 6 |SCH Screw M4 x 10 urchase item tainless Steel 2 kg Cu 18.96 8 mm 28.5 mm 19.869 kg
9 | 18 [M4 Plain Washer urchase item tainless Steel 0 kg PROJECT: TE
10 | 12 [M4Nut urchase item tainless Steel 1kg [UNIVERSITY OF oxroﬁ MICE_Flat Absorber Flat Absorber Holding Rack_LiH
711 | 6 [SHCScrewMBx 12 _|Purchase item Stainless Steel 0.006 kg e o, 9 L
12 9 |M6 Plain Washer O.D |Purchase item Stainless Steel 0.001 kg OXFORD, OX1 3RH ‘GENERAL TOLERANCES:
o, TEL 443 (01065 263196 o MicE FAASDL 00
13 | 4 [SHC Screw MBx 40 |Purchase item Stainless Steel 020Ky | e ) Koo 110 | ooroarors |
144 [M8 Plain Washer Purchase item Stainless Steel 002 kg L 500
TECHNICAL REFERENCE: : GOCUMENT TVPE: | NUVBER OFF
15 | 4 [MeNut Purchase item Stainless Steel 004kg_| o o e s T
16 | 3 [MeNut Purchase item Stainless Steel 003 k0 |cHECKED &Y OTHERWSESTATED | (5 STATY e
17 | 3 |M6SS Thrust Screw |Wixroyd 'SS body Delrin POM_|0.001 kg o 15.209 kg
34042.W0276 erroED Y @ Q 308 NUMBER: EED
18 2 |Wixroyd Handle Wixroyd Polyaryletherketone |0.217 kg A3 Debur
7912.W180-8 Resin THS DRAWING HAY NOT BE USED FOR COMMERGIALUSE [ smeeriorz |
5 T s T T

‘ ! 4




Flat LiH absorber support zoom

B467.2

%.(W

The outer diameter of 467.2 mm is a bit tight within the AFC bore (470
m), but that cannot be changed since the absorber diameter is 450

m
mm.

Pavel Snopok, IIT/Fermilab Solid Absorber Status



90 degree wedge absorber support

el 34 155 285196
FAX 144 Ol 263157

MICE_Wedge Absorber

Wedge Absorber Holding Rack

laup

‘GENERAL TOLERANCES,

XXX 2005
X0 20,005

Parts List
PART NUMBER DRAWING NUMBER MATERIAL _|_Wei
Mounting Plate MICE_WA_PT02_00 nol 2802
Center Plate MICE_WA_PT03_00 0.804
End Plate MICE_WA_PT04_00 0544
[Absorber Supportl _|MICE_WA_PT05_00 0.083
Shaftl MICE_WA_PT06_00 0.376
Shaft2 MICE_WA_PT07_00 Tufnol 0.231 kg
Shaft3 MICE_WA_PT08_00 Tufnol 0.107 kg
8 1 |Wedge Absorber MICE_WA_SA03_00 10.954 kg
1 Holder Assembly
9 | 10 [SHC screw M6 x 16 _|Purchase item Stainless Steel 07 kg
10 | 8 |SHCscrewM6x 25 |Purchase item Stainless Steel 09 kg
11 | 4 |SHC screw M6 x 35 _|Purchase item tainless Steel 11 kg
12_| 26 |Washer- M6 Purchase item tainless Steel 1kg
13 | 4 [SHCscrew M8 x 40 _|Purchase item tainless Steel 3 kg
W14 | 4 [washerms Purchase item tainless Steel 2ka_|erecnen
15 | 4 [Nutms Purchase item tainless Steel 4 kg
16 | 5 [NutMé Purchase item Stainless Steel _|0.002 kg _[weroveer
17_| 3 [ThrustScrew- M6 _|Wixroyd 3402W756 Stainless Steel _[0.001 kg
18 | 2 |Wixroyd Handle [Wixroyd 7912.W180-8 ’aasuc 0.217 kg
g T g T

© O |ns

THIS DRAWING MAY NOT BE USED FOR COMMERCIAL USE
B T SN A

MICE_WA_SAO1_00

1:10 [03/08/2011
NIA
Debur

SHEET1 OF L




45 degree wedge absorber support

Parts List
: : TTEM [QTY PART NUMBER DRAWING NUMBER MATERIAL MASS
1 1_[Wedge Absorber Holder Assembly [MICE_SA02_00 10.954 kg
. 2 1_|Mounting Plate MICE_WA_PT02_00 [Tufnol 2.802 kg
B-B(1:10) 3 1_[Center Plate MICE_WA_PT03_00_[Tufnol 0.804 kg
b 4 1_|End Plate MICE_WA_PT04 00 [Tufnol 0544kg P
5 2| Absorber Supportl MICE_WA_PT05 00 [Tufno 0.083 kg
6 3 |Shaftl MICE_WA_PT06_00 [Tufnol 0376 kg
7 3_|Shaft2 MICE_WA_PT07_00 [Tufnol 0.231 kg
8 2_|Shafta MICE_WA_PT08_00_[Tufnol 0.107 kg
9 2| Absorber Support3 MICE_WA_PT09_00 [Tufno 0.202 kg
h 10 | 2 |Absorber Supportd MICE_WA_PT10_00_[Tufnol 0.141kg |
11 | 2 |Absorber Supports MICE_WA_PT11 00 [Tufnol 0.143 kg
12 | 2 |Wixroyd Handle Wixroyd 7912.W180_8|Plastic 0.217 kg
13| 10 |SHC Screw M6x 16 Purchase item Stainless Steel 0.007 kg
14| 34 |Washer M6 Purchase item Stainless Steel 0.001 kg
15 | 7 |SHC Screw M6 x 20 Purchase item Stainless Steel 0.007 kg
qI — . 16 | 5 |SHC Screw M6x25 Purchase item Stainless Steel 0.009 kg
(7) | 3524 | 2206 17 8 |SHC Screw M6 x 40 Purchase item Stainless Steel 0.012kg_|
- 18 | 13 [Nutve Purchase item Stainless Steel 0.002kg |
19 | 3 [Thrust Screw- M6 Purchase item SS body, Delrin POM [0.001 kg

C-C(1:10)
A-A(1:10) CEARET G s | MICE Wodge Absorber Wedge Absorber Holding Rack 37.7
TEL. +44 (0)1865 283196 T
BCRGEIET | omema rowmaces [T
Grexron X105 SEiLE oATE oF SSUE [ WAERAL
laup iots 1:10 |04/08/2011
TR REFERETGE X302 0005 —er
19.022 kg
Debur
THIS DRAWING NAY NOT BE USED FOR CONMERCIAL USE SHEETIOFL




Wedge support issue

209.6
3774 46 @ Upon review it was pointed out that
the wedge support structure conflicts
with the downstream safety window
flange.

@ Options: move the wedge 25 mm
upstream (configuration being
simulated), change the design of the

| support structure, or move the safety

‘ window flange 25 mm downstream.

@ Peter Lau updated the design, there
205|205 is no conflict with the downstream
flange (209.6 mm?).

37.7

160.0
L=

| 422.0 | 422.0 |

Pavel Snopok, IIT/Fermilab Solid Absorber Status



Support issue: updated design

B-B(1:20)
2096
3774 46 C-C(1:20)
N - 5
g
} 4
4220 | 4220

T 34 nass 295196
i 4a Gios 237

MICE_Wedge Absorber

Wedge Absorber Mounting

X205
XX 201

XXX 2005
XXX 20,005

‘GENERAL TOLERANCES,

MICE_WAB_AS01_00

Flange
T

laup
Parts List
A [JTEM [QTv PART NUMBER DRAWING NUMBER| __ MATERIAL _|creexepsy
1 1_|AFC_upstream open end Default
2 1_|Wedge Absorber Assemblyl __|MICE_WA_SAOL_00 oS B
2 1 |Hydrogen piping mounting NA Stainless Steel

Pavel Snopok

Solid Absorber Status

A3

THIS DRAWING MAY NOT BE USED FOR COMMERCIAL USE

1:20 |04/07/2011
CoCIERT STATS Z
NIA
SHEET1 OF 1




@ Flat LiH absorber is complete.

@ Wedge LiH absorber will take another two months.

@ The engineering drawings for the support structures are being
finalized:

o the flat absorber support does not raise any concerns;
o the wedge absorber support has been redone to address the
conflict with the downstream safety window flange.
@ Software: wedge geometry is being implemented and simulated in
MAUS (Durga Rajaram).
@ Analysis: solid absorber efforts should be on the agenda for the
analysis meeting.

Pavel Snopok, IIT/Fermilab Solid Absorber Status



